
L Shaped Storage Rack



M8x25M8

Parts List
A FEDCB

2PCS

M

G

N

H

O

I

P

J K L

1PC10PCS20PCS40PCS 20PCS

5PCS5PCS5PCS

5PCS5PCS1PC1PC2PCS

20PCS

5PCS

Q R

6PCS 6PCS

φ6.5x50 φ5x30 φ5x30 M6x35 M6x10



A A

B B

C

D

E

E

E

E

E

F

F

F

F

F

G

G

G

G

G

H

H

H

H

H

I

I

I

I

I

J

J

J

J

J

K
K K

K

L
L

L
L

K
K

L
L

Assembly Instructions



 3
00

 

 7
0 

 7
0 

 800 

 150 
 150 

B

D

L

K

K

L

A

B Step2A

Q

Q

C

D

Q
Q

Step2B

Step2
As shown in the figure, connect and lock A and B by Q, 
and repeat twice, while connect and lock C and D by Q.

M8 M8x25

Assembly Instructions

Step1
As shown in the figure, tap K into B, and then tighten L into K,
repeating twice. Knock K into D again, and then tighten L into 
K. When the floor is uneven, the product can be kept flat by 
adjusting L.

LK x 6x 6



BD

L

K

L

A

B Step2A

Q

Q

C

D

Q

Q

Step2B

Step2
As shown in the figure, connect and lock A and B by Q, and 
repeat twice, while connect and lock C and D by Q.

Assembly Instructions

Step1
As shown in the figure, tap K into B, and then tighten L into K, 
repeating twice. Knock K into D again, and then tighten L into K. 
When the floor is uneven, the product can be kept flat by adjusting L.

x 10Q

M6x10



P

E

P

P

F

P

P

Assembly Instructions

Step2
Attach lock plate G to upper post F using a single M8X12 bolt and 
an M8 flange nut as illustrated. Adjust the column lengths to 
achieve the desired height, making certain that the upper column 
is nested within the lower one. It's crucial that all columns are 
uniformly adjusted in length.
 
Note: 
In instances of a sloping ceiling, adjust the bolt between 
the lock plate and the upper post to maintain the product's 
perpendicular alignment with the floor.

Step3
As shown in the figure, connect Step2A 
and Step2B through E and tighten with P.

M6x35

P x 10



F
P

P

P

Assembly Instructions

Step2
Attach lock plate G to upper post F using a single M8X12 bolt and 
an M8 flange nut as illustrated. Adjust the column lengths to 
achieve the desired height, making certain that the upper column 
is nested within the lower one. It's crucial that all columns are 
uniformly adjusted in length.
 
Note: 
In instances of a sloping ceiling, adjust the bolt between 
the lock plate and the upper post to maintain the product's 
perpendicular alignment with the floor.

Step4
As shown in the figure, connect Step3 and 
another Step2A through F and tighten with P.

x 10P

M6x35



M

M

C

A

G

M
G

M

G

O

O

E

G

Step6
As shown in the figure, 
tighten the G and E with O.

Assembly Instructions

tep5
As shown in the figure, place G between 
A and C, then lock G with M.

φ6.5x50

M x 10



M

M

C A

G

M
G

M

G

O

x 10O

φ5x30

O

E

G

Step6
As shown in the figure, 
tighten the G and E with O.

Assembly Instructions

Step5
As shown in the figure, place G between 
A and C lock G between A and C with M.



M

M

A

C

A

CM

M I

Step8
As shown in the figure, place I between 
A and C, lock I between A and C with M.

M

I M

I

H

G
N

H

G

M
H

G M

Assembly Instructions

Step7
As shown in the figure, place H on the G, 
lock H and G with N, and use M to lock H
between A and C, then tighten the screws 
of Step5 and this Step with M.

φ5x30φ6.5x50

x 10x 10 NM



M
M

A

C

A

CM
M

I

Step8
As shown in the figure, place I between 
A and C, then lock I with M.

M

I
M

I
H

G
N

H

G

M

H

GM

Assembly Instructions

Step7
As shown in the figure, place H on the G, 
lock H and G with N, and use M to lock H
between A and C and , locking the screws 
of Step5 and this Step.

φ6.5x50

M x 10

M6X35

P X 10



O

O
F

I

M

M

N

C

A

M

I

J
M

J

I

N
I

J

Assembly Instructions

Step10
As shown in the figure, place J on the I,
lock I and J with N, and use M to lock I 
between A and C . Tighten the screwsin 
of Step8 and this Step.

Step9
As shown in the figure, 
tighten the I and F with O.

x 10O

φ5x30



O

O
F

I

M

M

N

C

A

M

I

J

M

J

I

N
I

J

Assembly Instructions

Step9
As shown in the figure, 
tighten the I and F with O.

M Nx 10 x 10

φ6.5x50 φ5x30

Step10
As shown in the figure, place J on the I,
lock I and J with N, and use M to lock I 
between A and C, then tighten the screws 
of Step8 and this step with M.


	图纸1(3)
	工程图视图179

	图纸1
	工程图视图119
	工程图视图120
	工程图视图122
	工程图视图123
	工程图视图124
	工程图视图125
	工程图视图126
	工程图视图128
	工程图视图130
	工程图视图131
	工程图视图136
	工程图视图139
	工程图视图140
	工程图视图141
	工程图视图157
	工程图视图195
	工程图视图196
	工程图视图197
	工程图视图277

	11
	工程图视图206

	1
	工程图视图207
	工程图视图208
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	工程图视图212
	局部视图  (1 : 10)
	工程图视图214
	局部视图  (1 : 10)
	工程图视图287
	工程图视图288

	2
	工程图视图278
	工程图视图280
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	工程图视图282
	局部视图  (1 : 5)
	工程图视图284
	局部视图  (1 : 5)
	工程图视图297

	3
	工程图视图147
	局部视图  (1 : 5)
	工程图视图217
	局部视图  (1 : 4.5)
	局部视图  (1 : 5)
	工程图视图298

	4
	工程图视图249
	局部视图  (1 : 3)
	局部视图  (1 : 3)
	工程图视图299

	5
	工程图视图221
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	工程图视图227
	局部视图  (1 : 5)
	工程图视图300

	6
	工程图视图252
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	工程图视图255
	局部视图  (1 : 5)
	工程图视图309

	7
	工程图视图230
	工程图视图231
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	工程图视图302
	工程图视图303

	8
	工程图视图264
	工程图视图268
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	工程图视图306

	9
	工程图视图176
	局部视图  (1 : 5)
	工程图视图233
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	工程图视图305

	10
	工程图视图271
	局部视图  (1 : 5)
	工程图视图273
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	局部视图  (1 : 5)
	工程图视图307
	工程图视图308


